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1. Mofp hology
Consider the following set of data.

List A List B

wise unwise
true untrue
cover UNcover
real unreal
lock unlock
tie ' untie

1.1. Sort out the Words in List B into two groups depending on the morphological
characteristics of the prefix un-.

One group of words consists of
The other group consists of

1.2. Expiain in words the morphological properties (Subcategorization and
semantics) of the two prefixes un-.

1.3. Draw two different morphological tree diagi‘ains of the ambiguous word
unlockable.
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2. Phonetics
For each group of speech sounds in 2.1-2.5, find the one that does not belong, and

justify your answer by providing the phonetic feature shared by the rest of the speech
sounds. Your answer should have the following format.

does not belong, because the rest of the speech sounds are

2.1. f 8 v 0 ‘h n
2.2. 1 m n t

2.8. p ' d Z 0

2.4, t d k | zZ s

2.5. u 1 I e 3 ®
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3. . Phonology

A'particular dialect of English exhibits a predictable variant /a1/ of the diphthong /ar/.

The data are given below.

bite  /bart/ = time /ftarm/ rice  /rais/
tie /tar/ rise fraiz/ type /tAip/
ride frard/ write  /ratt/ “ninth  /naine/
file " fa1l/ fight  /fatt/ + firve /fa:[a”)

life laxf/ buy  /bay/ bike  /batk/

3.1. What phonetic segments condition this change?

3.2. What feature(s) uniquely describe the class of conditioning segments?

4, Syntax
Explain the ungrammaticality of the following examples.

4.1. *Mary; believes that John loves herself;.
4.2. *Who do you make a claim that John met?

4.3. *It seems John to be honest.
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